
ΘΕΜΑ	
  Β	
  
	
  
Ι.Η	
   γονιμοποίηση	
   του	
   ωαρίου	
   από	
   το	
   σπερματοζωάριο	
   προϋποθέτει	
   την	
  
απελευθέρωση	
   του	
   σπέρματος	
   κατά	
   την	
   ερωτική	
   πράξη	
   και	
   την	
   συνένωση	
   των	
  
δύο	
  γαμετών.	
  Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  	
  

α)	
   Ποιος	
   είναι	
   ο	
   μηχανισμός	
   με	
   τον	
   οποίο	
   το	
   πέος,	
   κατά	
   την	
   ερωτική	
   διέγερση,	
  
μεταβάλλει	
  τη	
  μορφή	
  του;	
  (4μ)	
  

β)	
  Πώς	
  προκαλείται	
  η	
  εκσπερμάτωση;	
  (4μ)	
  

γ)	
   Πού	
   απελευθερώνονται	
   τα	
   σπερματοζωάρια,	
   πού	
   συναντούν	
   το	
   ωάριο	
  
προκειμένου	
  να	
  το	
  γονιμοποιήσουν;	
  (4μ)	
  

	
  

ΙΙ.	
   Το	
   Κεντρικό	
  Νευρικό	
   Σύστημα	
   του	
   ανθρώπου	
   συντονίζει	
   όλες	
   τις	
   λειτουργίες	
  
του	
  οργανισμού.	
  Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  

α)	
  Από	
  ποια	
   τμήματα	
  αποτελείται;	
   Σε	
   ποια	
   τμήματα	
   του	
   σκελετού	
  προστατεύεται	
  
καθένα	
  από	
  αυτά;	
  (4μ)	
  

β)	
   Τα	
   τμήματα	
   του	
   α.	
   ερωτήματος	
   προστατεύονται	
   από	
   μεμβράνες.	
   Πώς	
  
ονομάζονται	
  οι	
  μεμβράνες	
  αυτές	
  και	
  πώς	
  ο	
  χώρος	
  που	
  υπάρχει	
  ανάμεσα	
  στις	
  δύο	
  
εσωτερικές;	
  (2μ)	
  

γ)	
  Στον	
  χώρο	
  στον	
  οποίο	
  αναφέρεται	
  το	
  β.	
  ερώτημα	
  κυκλοφορεί	
  ένα	
  υγρό.	
  Ποια	
  η	
  
σημασία	
  του	
  υγρού	
  αυτού;	
  (3μ)	
  

δ)	
   Πού	
   παράγεται	
   το	
   υγρό	
   του	
   γ.	
   ερωτήματος;	
   Γιατί	
   το	
   υγρό	
   αυτό	
   μπορεί	
   να	
  
κυκλοφορεί,	
   εκτός	
   από	
   το	
   τμήμα	
   του	
   Κεντρικού	
   Νευρικού	
   Συστήματος	
   στο	
   οποίο	
  
παράγεται,	
  και	
  στο	
  τμήμα	
  του	
  Κεντρικού	
  Νευρικού	
  Συστήματος	
  που	
  δεν	
  το	
  παράγει;	
  
(4μ)	
  	
  

	
  
	
  
	
  
ΘΕΜΑ	
  Δ	
  
	
  
Τα	
   ανθρώπινα	
   ερυθρά	
   αιμοσφαίρια	
   κατά	
   την	
   ανάπτυξή	
   τους	
   αποκτούν	
   ένα	
  
ιδιόμορφο	
   σχήμα,	
   ενώ	
   στο	
   κυτταρόπλασμά	
   τους	
   συσσωρεύεται	
   μια	
  
εξειδικευμένη	
  πρωτεΐνη.	
  	
  



Λαμβάνοντας	
   υπόψη	
   τη	
   λειτουργία	
   των	
   ερυθρών	
  αιμοσφαιρίων	
   και	
   το	
   γεγονός	
  
ότι	
   ένα	
   κύτταρο	
   δεν	
   μπορεί	
   να	
   ζήσει	
   για	
   πολύ	
   χωρίς	
   πυρήνα,	
   να	
   εξηγήσετε	
  
συνοπτικά:	
  

	
  
I. Ποιο	
   είναι	
   το	
   σχήμα	
   των	
   ώριμων	
   ερυθρών	
   αιμοσφαιρίων	
   και	
   που	
   οφείλεται;	
  

Ποια	
  σημασία	
  έχει	
  το	
  γεγονός	
  ότι	
  το	
  κυτταρόπλασμά	
  τους	
  κυριαρχείται	
  από	
  την	
  
συγκεκριμένη	
  πρωτεΐνη;	
  	
  
	
  

II. Πώς	
  ο	
  ανθρώπινος	
  οργανισμός	
  «καταφέρνει»	
  να	
  διαθέτει	
  πάντα	
  επαρκή	
  αριθμό	
  
ερυθρών	
  αιμοσφαιρίων,	
   παρόλο	
   που	
   τα	
   κύτταρα	
  αυτά	
   πεθαίνουν	
   120	
   ημέρες	
  
μετά	
   τη	
   γέννησή	
   τους.	
   Πώς	
   θα	
   αξιοποιούσατε	
   την	
   εξήγηση	
   που	
   δώσατε	
  
προκειμένου	
   να	
   πείσετε	
   έναν	
   δύσπιστο	
   υγιή	
   συγγενή	
   σας,	
   να	
   γίνει	
   εθελοντής	
  
αιμοδότης;	
  (12+13μ)	
  
	
  
  


